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KVS PRT General English Memory
Based Questions

Q1. Choose the correct antonym of the given word
LABORIOUS

(a) Free

(b) Vibrant

(c) Energetic

(d) Buzzing

Ans.(a)

Q2. Choose the correct synonym of the given word
DEFICIENT

(a) Partial

(b) Integral

(c) Intact

(d) Entire

Ans.(a)

Q3. Fill in the blank with the appropriate article

[ am making my parents Christmas
present that I will send through mail.

(a) a, the

(b) a,a

(c)an,a

(d) a,an

Ans.(a)

Read each sentence to find out whether there is
any grammatical error in it. The error, if any,
will be in one part of the sentence. The number
ofthat partis the answer. If there is no error, the
answer is ‘4’ i.e. No error. (Ignore the errors of
punctuation, if any).

Q4. When I found she was (1)/there then his
mother came and started (2)/scolding him very
loud. (3)/No error (4)

(@)1

(b) 2

()3

(d) 4

Ans.(c)

Q5. When Ram found she was (1)/too glad to meet
him, he was lured to live (2)/with her for some
days. (3)/ No error (4)

()1

(b) 2

(c)3

(d) 4

Ans.(b)

Q6. Identify the segment in the sentence, which
contains the grammatical error.

Sarika was popularly with her classmates that she
had always some people coming to her for advice.
(a) Sarika was popularly with her classmates

(b) that she had always some

(c) people coming to her for advice.

(d) No error

Ans.(a)

Q7. Wow! That bird is huge.
The underlined word is a
(a) Noun

(b) Pronoun

(c) Conjunction

(d) Interjection

Ans.(a)

Q8. Smoking is injuries to health.
The underlined word is a

(a) Adjective

(b) Adverb

(c) Noun

(d) Pronoun

Ans.(c)

Q9. Select the one which best expresses the same

sentence in Indirect/Direct speech.

My grandfather said to me, "Life will teach you

some hard lessons."

(a) My grandfather tells me that life teaches you
some hard lessons.

(b) My grandfather told me this that life will teach
you some hard lessons.

(c) My grandfather tells me thatlife will be teaching
you some hard lessons.

(d) My grandfather told me that life would teach me
some hard lessons.

Ans.(d)

1 | www.teachersadda.com

www.sscadda.com | www.bankersadda.com

www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q10. Select the one which best expresses the same
sentence in Passive/Active voice.

How did you miss the flight?

(a) How could the flight be missed by you?

(b) How has the flight been missed by you?

(c) How was the flight missed by you?

(d) How were the flight missed by you?

Ans(c)

Direction (11-15): A passage is given with 5
questions following it. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

A morning commute seems like a good time to
embark on an ambitious train of thought. At least,
that was the idea from the Hebrew University of
Jerusalem, which put a professor on a train on
Wednesday to lecture commuters. Passengers on
the 9 am train from the suburban community of
Modiin to Tel Aviv put away their morning tabloids
and iPods to listen to a talk from professor Hanoch
Gutfreund on “Einstein’s love letters’. The lecture
was the first of the university’s ‘Scientists on the
Rails’ programme: an attempt to broaden the
appeal of higher education and bring academia to
the people.

Unsure how the move would be received, the train
talks have been rescheduled for just after morning
rush-hour and only in one carriage on the train to
avoid antagonizing people. As the train chugged
through tunnels and past the airport, one woman
interrupted the professor with a question. “Will you
finish your talk before we reach the station?” she
wanted to know. “Madam, by the time you reach
your station, you’ll have our BA”, came the reply
from the professor.

Q11. Why did the Hebrew University embark on

the programme of giving lectures on the train?

(a) People have motive to go to College

(b) The University was testing out an innovative
idea

(c) The Railways wanted to reduce the stress of
commuters

(d) The professors had nowhere else to teach
Ans.(b)

Q12. How did the commuters react to the professor
addressing them?

(a) They decided to pay attention

(b) They put on their iPods to listen to the lecture
(c) They had no choice in the matter

(d) They were antagonized by the lecture

Ans.(a)

Q13. What was the purpose of giving lectures to the

commuters?

(a) The university wanted to utilize the travel time
of commuters

(b) The university wanted to give BA degrees to the
commuters

(c) The university had extra scientists who needed
work

(d) The university wanted to attract people to
higher education

Ans.(d)

Q14. On which topic passengers on the 9 am train
from the suburban community listened to a talk
from professor Hanoch Gutfreund?

(a) ‘Newton'’s Thesis’

(b) ‘Tesla’s biography’

(c) ‘Einstein’s love letters’.

(d) ‘Leo Tolstoy’s novels collection’

Ans.(c)

Q15. Why did the woman ask the question to the
professor?

(a) She wanted him to leave the compartment

(b) She wanted to be impolite to him

(c) She wanted him to speak confidently

(d) She wanted to listen to the entire lecture
Ans.(d)

KVS PRT General Hindi Memory
Based Questions

Q1. fAaforfera # & fore ersg H wpor &fer g 2
() fewTerT

(b) TaaTl

() et

(d) To¥=

Ans.(c)
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Q2. Fe ® 7 ‘e’ 7 &Y =g 47 8-
(a) g + 317
(b) A + s
OEFSEE]

(d) 1 + o=
Ans.(a)

Q3. TUHF | I 97 9979 &-
(a) T2

(b) TEfaet

()&=

(d) FHeTT

Ans.(b)

Q4. et ® o {37 @@ 1 32T 2-
(a) Prga

(b) &

(c) TF=a

(d) gerre

Ans.(a)

Q5. “ TF Bl ATAT & Fg-dg g1 “ TETaL & A 77
T-Qﬁ-rrr_

(a) eft =T UF ST BT

(b) FAreTier % forw =g s

(c) 3= X AT TZATT T HT ITHT

(d) ST FT AIAT S AT | STAAT

Ans.(a)

Q6. ‘ 3= ' T IATT ATAT 9153 g-
(a) ST9I=

(b) &<

(c) farax

(d) e

Ans.(b)

Q7. T T aTergTer o 1T U orex T Ael [AFeT g-
“ IZTE & IUL il THAA THIA “-

BEIEKE

(b) sTeqer

GELGEL

(d) srg=eff
Ans.(a)

Q8. T 3 AT I AT T2 TaTed —
() T-TT

(b) TF-Taht

() FHTE-FAT

(d) sTEHT-sTETHT
Ans.(b)

Q9.” 7g W9 &1 U1 &7, T@ifohd | FT<h TaTsd —
(a) TEIETT FTLH

(b) T FF

(¢) FIOTHTTH

(d) T FT7F

Ans.(b)

Q10. “ o= &iT T “ o AGH/ATTHRT HIT g —
(a) T 33 9=

(b) Tt FHT S

(c) errsft frey <=

(d) %9t T
Ans.(b)

Q11. T Ef THI'F 1@ &I g-
(a) FFAT &7

(b) &1 ForT

(c) T@T S

(d) FHAT qTU=AT

Ans.(d)

Q12. ‘ AT ATAT JFAT F AGF HIA g-
(a) Ef¥erer T =g

(b) am=T Ay

(c) FrTaeT =

(d) ez Sft

Ans.(b)

Q13. YT 9Tsx FT Al fahed 2-
(a) A

(b) TIF

(c) eTfeRerTetT

(d) TTE

Ans.(c)
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Q14. 3T T ers7 T3 FT AGT o F7 Tl oo B-
(a) STLAT-TITATE

(b) H=¥ FMATT

() STY FTHTET

(d) oAt SIE FT HEY

Ans.(b)

Q15. T9IS 9153 A&l 8-
(a) feasy

(b) TTET

() &’

(d) T=h
Ans.(d)

KVS PRT General Awareness &
Current Affairs Memory Based

uestions

Q1. Twelve members are nominated to the Rajya
Sabha by the President of India for:

(a) four years

(b) five years

(c) six years

(d) seven years

Ans.(c)

Q2. Who appoints the Chief Minister?
(a) President

(b) Chief Justice

(c) Governor

(d) Election Commissioner

Ans.(c)

Q3. The Black Mountains are located in
(a) Canada

(b) Norway

(c) Switzerland

(d) US.A.

Ans.(d)

Q4. By which constitutional amendment the voting
age was reduced from 21 years to 18 years?

Q5. Who received Sahitya Academy Award 2022 for
Dogri literature?

(a) Anuradha Roy

(b) Badri Narayan

(c) Veena Gupta

(d) Rashmi Choudhury

Ans.(c)

KVS PRT Reasoning Ability Memory
Based Questions

Q1. Pointing towards a boy, a girl says, "He is the
only son of my mother's brother". How is the girl
related to the boy ?

(a) Grandmother

(b) Mother

(c) Cousin

(d) Aunt

Ans.(c)

Q2. Which of the following correctly represents the
relationship between.
1. Chair

2. Furniture
3. Cup

(b)
©)o

CNeYe
O

Ans.(a)

Q3. Find the next term in the series.
28, 25,5,21,18,5,14,7?

(a) 47% Constitutional Amendment 19769 (a) 14,5
(b) 615t Constitutional Amendment 1988 (b) 11,5
(c) 87t Constitutional Amendment 2009 (c) 11,7,
(d) None of the above (d) 7,11
Ans.(b) Ans.(b)
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Q4. In a class all boys stand in a line. One boy is 19t
in order from both the ends. How many boys are
there in the class?

(a) 27

(b) 37

(c) 38

(d) 39

Ans.(b)

KVS PRT Computer Literacy Memory
Based Questions

Q1. Which among the following is an Output device:
(a) scanner

(b) Microphone

(c) Printer

(d) Keyboard

Ans.(c)

Q2. Which among the following is not used in word
formatting in MS WORD :

(a) Bold

(b) Italic

(c) slide show

(d) underline

Ans.(c)

Q3. Which of the following is an intersection of a
row and column in a spreadsheet?

(a) Formula

(b) Worksheet

(c) Address

(d) Cell

Ans.(d)

Q4. Which one of the following is an operating
system?

(a) Mozila firefox

(b) Android

(c) MS word

(d) Chrome

Ans.(b)

Q5. Full form of DPI?

(a) Dots Per Inch

(b) Desktop pure interface
(c) Dot prescribed interface
(d) None of the above
Ans.(a)

KVS PRT Perspectives on Education
and Leadership Memory Based

uestions

Q1. The full form of DIET-

(a) Delhi Institute of Education & Training

(b) District Institute of Educational Training

(c) District Initiative of Education & Training

(d) District Institute of Education & Training for
Teachers

Ans.(c)

Q2. Pre-operational stage in Jean Piaget’s theory of
cognitive development characterizes

(a) Hypothetical deductive thinking

(b) Ability to conserve and seriate objects

(c) Development of abstract thinking

(d) Centration in thought

Ans.(d)

Q3. If a child is being taught 3+2 =5 using the plus
symbol then which stage the child is as per Bruner's
Theory of learning?

(a) Iconic

(b) Enactive

(c) Symbolic

(d) none of the above

Ans.(c)

Q4. In which of the following periods does physical
growth and development occur at a rapid pace?

(a) Infancy and early childhood

(b) Early childhood and middle childhood

(c) Middle childhood and adolescence

(d) Adolescence and adulthood

Ans.(a)

Q5. Regarding co-education at the secondary stage,

the 1952-53 Education Commission has suggested

that

(a) to start, resource, in several states could not
afford

(b) there should be objection to extend co-
educational school

(c) to maintain separate schools for boys and girls

(d) the situation in our country warrants
establishment of more boys schools than co-
education school

Ans.(a)
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Q6. The new NEP 2020, has replaced the current
10+2 system with which of the following
structures?

(a) 3+4+5+5

(b) 5+4+3+3

(c) 5+3+3+4

(d) 3+4+4+5

Ans.(c)

Q7. In a class, a student do not talk to anyone, not
do his homework and sit quietly in the class, he
needs

(a) teacher

(b) friends

(c) counsellor

(d) management

Ans.(c)

Q8. Skills such as eating habits, spoken proficiency,
and discipline are known as:

(a) Basic skills

(b) Language skills

(c) Communication skills

(d) All of these

Ans.(a)

Q9. What is the role of Modern Teacher in
Classroom?

(a) Providing Instruction

(b) Dominating

(c) Providing Guidance

(d) Both Aand B

And.(c)

Q10. Which of the following is not an appropriate
tool for Formative Assessment?

(a) Quizzes

(b) Assignment

(c) Projects

(d) Matching

Ans.(d)

Q11. From which year did the Right to Education
Act (RTE Act) take effect?

(a) 2009

(b) 2010

(c) 2005

(d) 2001

Ans.(b)

Q12. In which year the first National Policy on
Education in free India Launched?

(a) 1964

(b) 1966

(c) 1968

(d) 1970

Ans.(c)

Q13. Which phase of the lesson plan allows
students to expand and clarify their thinking?

(a) body of new information

(b) practice and review

(c) brain activation

(d) foundation

Ans.(c)

Q14. Which of the following is a psychological
factor influencing classroom learning?

(a) Health, age and gender

(b) Level of maturity

(c) Motivational and emotional state

(d) Meaningfulness of the contents

Ans.(c)

Q15. National Education Policy 2020 considers

multilingualism

(a) as a hindrance in children’s learning

(b) as an asset in the classrooms

(c) as a unnecessary complication in teaching-
learning process

(d) as a barrier to inclusive education

Ans.(b)

Q16. After the implementation of the RTE Act 2009
the classrooms are age-wise more:

(a) Heterogeneous

(b) Homogeneous

(c) Unaffected

(d) Bothaand b

Ans.(b)

Q17.How can a teacher make teaching meaningful?
(a) rote memorization

(b) identifying the errors

(c) giving home task

(d) conducting class test

Ans.(b)
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Q18. Adolescents have different types of interest,
which are:

(a) Recreational interest

(b) Social interest

(c) Personal interest

(d) All of these

Ans.(d)

KVS PRT EVS Memory Based
Questions

Q1. Slash and burn cultivation is known as
(a) jhoom agriculture

(b) intensive agriculture

(c) commercial agriculture

(d) subsistence agriculture

Ans.(a)

Q2. Bora is a common variety of ‘glutinous’ rice. It
is mainly found in

(a) Assam

(b) Bihar

(c) Odisha

(d) Tamil Nadu

Ans.(a)

Q3. Identify the feature of polar bear

(a) A white fur, fat below the skin, keen sense of
smell

(b) thin skin, large eyes, a white fur

(c) alarge body, curved sharp claws, large paws

(d) white body, paws for swimming, gills for
respiration

Ans.(a)

Q4. Rickets is caused due to deficiency of
(a) vitamin D

(b) vitamin C

(c) vitamin A

(d) vitamin B

Ans.(a)

Q5. Penicillin was discovered by
(a) Ronald Ross

(b) Alexander Fleming

(c) Edward Jenner

(d) Robert Koch

Ans.(b)

Q6. Which of the following is Rabi crop?
(a) Rice

(b) wheat

(c) maize

(d) sorghum

Ans.(b)

Q7. Lottery system is practiced in
(a) Assam

(b) Mizoram

(c) Bihar

(d) Rajasthan

Ans.(b)

Q8. The rate of dissolution of a solute depends on -
(a) temperature

(b) surface area

(c) weight

(d) pressure

Ans.(b)

Q9. Which of the following is not the part of the
seed?

(a) Plumule Bud

(b) Leaf

(c) Embryo

(d) Radicle

Ans.(b)

Q10. The ability to understand relative position of
places, distances and direction is-

(a) mapping skill

(b) positional skill

(c) graphic skill

(d) directional skill

Ans.(a)

Q11. Today we cannot think of food without
chillies. These were brought to our country by
traders coming from

(a) South America

(b) South Africa

(c) Afghanistan

(d) England

Ans.(a)
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Q12. Prateek uses boiled or distilled water in a fish

aquarium then what will happen?

(a) fishes are not able to survive

(b) fishes will swim in the upper layer of water

(c) fish will swim more properly in distilled or
boiled water

(d) fish will survive in distilled or boiled water as
they survive in the plain water

Ans.(a)

Q13. The kind of houses people live in depends on
(a) the climate of the region they live in

(b) availability of materials

(c) their lifestyle and needs

(d) all of these

Ans.(d)

Q14. Which among the following are the houses
which can be 80 feet long and 8-9 feet wide?

(a) Igloo

(b) Donga

(c) House boat

(d) Tent house

Ans.(c)

Q15. House made up of stone are found in -

(a) desert areas of Rajasthan

(b) plain areas of Uttar Pradesh

(c) In cold desert of Ladakh and other hilly areas

(d) in the area of heavy rainfall in Assam and North-
Eastern areas

Ans.(c)

KVS PRT Maths Memory Based
Questions

Q1. The fraction which is not equal to 4/5 is-
(a) 40/50

Q3. The average of 41 consecutive odd numbers is
49, what is the largest number-

(a) 67

(b) 45

(c) 38

(d) 89

Ans.(d)

Q4. Decimal expansion of 4/25 is -
(a) 0.16

(b)1.6

(c) 6.25

(d)4.2

Ans.(a)

Q5. The number 1.101001000100001....... is-
(a) Rational number

(b) Irrational number

(c) Integer

(d) Whole number

Ans.(b)

Q6. Sum of 1+2+3+.......... 70 is equal to-
(a) 2485

(b) 2585

(c) 2385

(d) 1560

Ans.(a)

Q7. Sum of first 18 multiple of 4-
(a) 990
(b) 234
(c) 567
(d) 684
Ans.(d)

Q8. Find the LCM of 18,24 and 44-

(a) 345

(b) 30/20 (b) 567
(c) 9/15 (c) 789
(d)12/20 (d) 792
Ans.(c) Ans.(d)
Q2. The two consecutive integers between which Q9. Sum of 32+34+36+38+ 90 is equal to -
the fraction 5/7 lies are - @) '1225 -----------
(E) gﬁ? (b) 1328
( )5 &7 (c) 2517
(o (d) 1830
(d6&7 Ans.(d)
Ans.(b) .
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Q10. Five bells begin to toll together and toll
respectively at intervals of 6,7,8,9,12 seconds, after
how many seconds will seconds will they toll
together again?

(a) 504 sec

(b) 102 sec

(c) 670 sec

(d) 120 sec

Ans.(a)

Q11. If n is a natural number, then aZ2n-b2n is
always divisible by -

(a) a+b

(b) a-b

(c) Both

(d) None

Ans.(c)

Q12. If n is a natural, then which of the following
expression ends with zero-

(a) (3*2)n

(b) (5*7)n

(c) (9*3)n

(d) (2*5)n

Ans.(d)

Q13.The LCM of two numbers is 1200, which of the
following cannot be their HCF-

(a) 600

(b) 400

(c) 500

(d) 200

Ans.(d)

Q14. A man purchased some eggs at 3 for rupees 5
and sold them at 5 for rupees 12, thus he gained
rupees 143 in all, The number of eggs he bought
was-

(a) 210

(b) 200

(c) 123

(d) 195

Ans.(d)

Q15. Find the LCM of 64, 18, 36 -
(a) 345
(b) 674
(c) 123
(d) 576
Ans.(d)
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